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Seim 
Respond to all parts of the question. In your response, use substantive examples where appropriate.

[image: The figure presents a pie chart. At the center of the pie chart is a circle that reads: Spending, 20.8% of G D P, 4.0 trillion dollars. The pie chart is divided into the following three major categories: Discretionary Spending, 6.3% of G D P, 2.3 trillion dollars; Mandatory Spending, 13.1% of G D P, 2.5 trillion dollars; and Net Interest, 1.4% of G D P, 263 billion dollars. The discretionary spending category is divided into the following two sub categories: Defense, 3.1% of G D P, 590 billion dollars; and Nondefense, 3.2% of G D P, 610 billion dollars. The mandatory spending category is divided into the following four sub categories: Social Security, 4.9% of G D P, 939 billion dollars; Medicare, 3.1% of G D P, 591 billion dollars; Medicaid, 2.0% of G D P, 375 billion dollars; and Other, 3.2% of G D P, 614 billion dollars.]
Source: Leigh Angres and Jorge Salazar, “The Federal Budget in 2017,” Congressional Budget Office, March 2018.
Use the chart to answer the following questions.
A. Identify the category with the largest amount of mandatory spending, according to the chart.
B. Describe the difference in spending between the mandatory and discretionary categories, according to the chart.
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